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YIIYTCTBA 3A KAHJUJIATE

Ha 3Hak riaBHOT AeXYpHOT M3BaguTe LenyJby (MACHTH(UKALMOHY KapTHIy) KOja ce Hajla3h Y KOBEpPTH, MOIMYHHTE je
Tpa)KEHUM JINYHUM NOAALMMA, BPaTUTE LEAYJbY Y KOBEPTY M 00aBE3HO 3aJICIIUTE KOBEPTY.
BAKHO!!!

HA CAMOJ KOBEPTH HE CMETE HUIITA IMUCATHU. HA HCIIUTHOM TECTY U MAPITUHAMA HE CMETE
HAIMUCATHU HA CBOJE MME, HUTHU HEKY HIU®PY, HUTU BUJIO KAKBE JPYI'E O3HAKE. HCIIMTHH
TECTOBHA KOJU BYAY HA BNJIO KOJU HAYUH O3HAYEHHN BURE OJMAX JUCKBAJIHN®UKOBAHMU, BE3
HPETJIEJAIBA.

Hcnmtan TecToBu 6uhe mudpupann HAKOH IITO CBY KaHANWIATH HAITyCTE MECTO IOJIarama UCIINTA.

VYxomuko To HEcTe Beh yanHmm, cBoje TuaHe cTBapH (TopOe, (aciukiie, jakHe...) OAI0KITE Ha KaTeapy Wik yuBriyk. He

3a00paBHTe /1a HCK/bYYHUTE H OJJI0KUTEe MOOMIIHe TesiepoHe Kao 1 OUJI0 Koje Apyre eJeKTpPoHcKe ypehaje, koju He

cMejy cTajaTu Ha KJynama, HUTH ucnoa mux. Ha kiynama mory na Oyay caMoO MCIIMTHH TECTOBH U OJIOBKE, COK WITU

BOJIa, KA0 ¥ JIMYHA KapTa/macoll U IIOTBP/ia O MpHjeMy JoKyMeHarta (JIucTuh ca neyaToM W yIHCaHUM MPpHjeMHHM OpojeM).

[Moxecure cBOj YaCOBHUK TAaKO Jja c€ BpeMe CllayKe ca OHUM Ha YaCOBHHUKY JEeKypHUX. M3pasa 3agataka He cMme J1a Tpaje

aysxe o 120 MuHyTa. YKOJIHMKO TECT 3aBPIINTE IIPE UCTEKa OBOT POKa, MOXKETE Jia HamycTuTe amdureartap / yunonuiy. Y

TOM CITy4ajy, OKPEHHUTE TECT Ha JIMIE U OCTABUTE Ta HA KJIYIH.

3a u3paly 3ajaraka MOpare Ja KOpUCTUTE IJaBy XeMHjcKy 010BKY. Hujenan oarosop Hanucad rpaguTHOM 0J10BKOM

WIH 0JIOBKOM Y 00ju Koja Huje mjaBa Hehe OuTn mpu3HAT! AKO HEeMare IUIABYy XEMHjCKY OJOBKY, IIOTPAXKUTE j& OJ

JEXKYPHUX.

OxpeHuTe ApYTy CTPAaHMILy TECTa TeK KaJa Je;KYPHHU o0jaBe 1a MoYHIbe 3BAHMYHO BpeMe H3paje TecTa.

VY npeom geny tecta (PART A) CAMO 3AOKPYIKHUTE jenan ox monyhenux onrosopa — HE TPEBA ynucuBaTn

peliera U 'y TEKCT MJIM PeYeHHnIy.

VY npyrom neny tecta (PART B) TPEBA ynucuBaTH peliema y TEKCT WU peYeHULy.

HAXJBUBO IMTPOUYUTAJTE YIIYTCTBA 1arta Ha MOYETKY CBAaKOT O] Bex0arba, i Mpe HEero IITO CE OTyYHUTE 3a jEIAHO

on nonyhenux pemiewha, win ymuiere cBoje pemietbe — IMAKI/BUBO TMPOUYUTAJTE HEJU TEKCT WJIA

PEUYEHHMLIY U 1O6PO PASMUCJIUTE.

VYkoauko cre Beh 3a0KpY XM WITH YIIMCAIIH jJE€IHO PEIICHeE, 1a Ce MIPEAOMHUCIIUTE 1 XKEIUTE JIa 3a0KPYKUTSMIH yITHUIIeTe

JpYro pemieme, To Mopa outn ypalheHo T acoH MI/IC.]IeHO BH/M KOje perieme Baxu. Ha anMep@b d,
(0

WIN YKOJIMKO C€ TIOHOBO NPEJOMHCIINTE, . Yriorpeba KopeKTopa 3a XeMHjCKy OJIOBKY HHje A03IBOJbCHA.
MomrmMo 00paTuTe MaXy J1a Ha TECTy TPEoa aBaTH MO JEJHY Baxchy Bep3ujy oarosopa — Hehe ce nmpu3HaBatu
OJITOBOPY ca BHIIE OCTABJLCHNX alITEPHATHBHUX pemema!l Baxkehe pememe MoxeTe 1a 03HAUUTE M CTPEIIMIIOM TTOpe Koje
MH1Ie ,,0B0 BAKH.

Oxrosopu Koju y cebu campxe OMITO KakBy Tpelky y mucamy peun (Spelling) u aHucy y ckimany ca rpaMaTHdkuM peoM
pedn eHrjiecke pedeHuile Hehe OWTH MPU3HATH — 3aTO NPOBEPHUTE Jla JHM Cy Ballla pellermha HCIHCaHa TAYHO, jaCHO U
YUTKO.

Tect nma ykymHO 8 cTpaHa — 00paTuTe Maxmpy Ja HEKY 01 CTpaHa IPEIIKOM He MpecKoyuTe!

Y TOKY U3PAJIE TECTA HUKAKBA KOMYHUKAIINJA KAHIUJAATA CA BUJIO KUM HA BWJIO KOJH
HAYMH HERE BUTHU TOJEPUCAHA. U cim nokymaj npenucuBama Wi ynorpede enekTpoHckux ypehaja omino
koje Bpcre ka3anhe ce TPEHYTHUM YJA/BEIBEM CA UCITUTA U JTUCKBAJIM®UKALIUJOM.

TokoM m3pazne Tecta, He MOKeTe TPKUTH IOMOh WM o0jammkema o1 NexypHUX. CBe IITO JKeJNUTE Ja IHUTaTe Mopate
IIUTATH IIpe HETO IITO ce 00jaBH ITOYETAK U3PaJIe TECTa U IPe HEro BUANTE CAM TECT.

OBHX yIyTCTaBa, Ka0 M YIIyTCTaBa 3a pellaBame CBAaKOT BexOama Tpeda ce JOCIOBHO NPHIPKABATH.

GOOD LUCK!




PART A- MULTIPLE CHOICE TASKS

I For each numbered gap choose ONE of the four offered answers to make the sentence
grammatically correct and logical. JUST CIRCLE A, B, C or D. Do NOT fill in the
numbered gaps. The first one (0) is done for you.
10 x 1 point = 10 points
It (0) _ becomealmosta (1) thatspeaking English well is a huge help in the business
world, and it’s becoming (2) ___ true as international trade (3) ___ every year. Many of the
MBA programs are taught in English, so speaking it well can put you in a position to get the
best training and (4) ___. With more companies being bought or (5) __ with foreign firms,
you never know if one day you might need to speak English to your new boss! If your ambitions
(6)  in science or medicine, you can’t neglect English. Much of the technical (7) s
based on English words. You’ll read about the latest discoveries in journals published in
English, no matter (8) __ the scientists who wrote them are from China or Norway. And, of
course, with good (9)  English, you’ll be able to (10) __ conferences and seminars.

( A)has C) was

0 1'B) do D) is
A) proverb C) saying

L B) cliché D) catchphrase
A) unhurriedly C) extreme

2. B) steady D) increasingly
A) fixes C) expands

3 B) multiplies D) stretches
A) papers C) credentials

4 B) record D) triumph
A) merging C) have to merge

> B) merge D) to merge
A) lay C) lied

6. B) are lain D) lie
A) words C) idioms

! B) terminology D) phrases
A) @ C) that

8 B) weather D) whether
A) conversational C) casual

S B) chatty D) colloquial
A) travel C) mix at

10. B) mixin D) participate

TEST CONTINUES ON THE NEXT PAGE




Il For each numbered gap or a set of gaps choose ONE of the four offered answers to
make the sentence both grammatically correct and logical. Do NOT fill in the gaps. Just
CIRCLE A, B, C or D. The sign @ offered as an option in some sentences means that no
word or word group is missing. The first one (0) is done for you.

5 x 2 point = 10 points

(0) We our next door neighbor lately.
A) didn’t see (@ haven’t seen
B) see D) aren’t seeing

1.Making soup requires little __ the way of ___ skills apart from an ability to __ vegetables.

A) in/ catering / sever

C) by /food / split

B) of /cuisine / chop

D) in/ culinary / chop

2. Asif he her, he continued to the car, it with expert skill.

A) wasn’t hearing / ride / controlling

C) hadn't heard / steer / maneuvering

B) hadn’t heard / drive / maneuvered

D) had heard / navigate / to maneuver

3. They were correct ___ their judgment not to rush ___a quick decision ___appointing him.

A) at/for /by

C) in/into/in

B) around/in/ for

D) in/for / for

4. If you need formal for several , be sure to pack it properly to avoid .

A) wear / circumstances / pleats

C) apparel / happenings / lines

B) wear / occasions / wrinkles

D) costume / occasions / crushes

5. At first there were only __ isolated cases of measles amongst __ children, but within
weeks __ outbreak reached epidemic proportions.

A B0

C) @ /the/an

B) @/ the/the

D) the/the /@

TEST CONTINUES ON THE NEXT PAGE




PART B — FILL-IN TASKS

Il Fill in the blanks with appropriate verb forms (finite, non-finite, modalized,
perfective, progressive, active or passive) of the verbs in brackets, so that you get
grammatically correct and meaningful sentences which are appropriate for the given
context. Also pay attention to word order and spelling. It is NOT acceptable to add any
other word (pronouns, nouns, etc.). The first one (0) is done for you.

10 x 2 point = 20 points
It (0) 17% believed (believe) that colonization

Q) (wipe out) many languages by the time it ended.

British colonization of North America and Australasia (2)

(MODAL, lead) to the imposition of English onto the colonized populations. In the past, where

the minority language (3) (survive), such as Maori in New
Zealand, official policy (4) (discourage) its use, and children
(5) (forbid) from speaking it in schools. A long time
ago, Maori (6) (see) as irrelevant to economic advancement,
with the view that English (7) (replace) it in future. The
concern from all groups in New Zealand (8) (reverse) this

policy recently. By the end of the decade, a policy of inclusion

9 (transform) what once

(10) (be) a minority language into a mainstream component

of the nation’s culture.
TEST CONTINUES ON THE NEXT PAGE




IV Adapt the form of the words in brackets to the context so that you get a grammatical
and meaningful text. In some examples negative prefixes are required. Plural forms are
also possible. All the words in brackets have to be adapted to a new form and correctly
spelt. You should not use any —ing form. The first one is done for you.

5 x 2 point = 10 points

Faulkner populates his books with the ghosts of great men whose

0) aristocralic (ARISTOCRACY) families fail to live up to their

Q) (RECOGNIZE). Beneath the shadow of past
2 (GLORIQUS), these families attempt to cling to old
Southern values. Faulkner was a pioneer in literary
3 (MODERN), dramatically diverging from the forms

traditionally used in  novels before his time. Not surprisingly, his

(4) (STYLE) innovations make some of Faulkner’s novels

5) (CREDIBLE) challenging to the reader.

TEST CONTINUES ON THE NEXT PAGE




V Make questions so that the underlined and bolded words or word groups constitute the
answer. Make sure your questions include all the information from the sentence. Do not
add new information or change the tense.

5 x 2 point = 10 points

Example: That boy is called Peter.

How iy that boy called?

1. This affordable suit comes in over 30 colors and patterns.

?
2. These measures were never put into action.

?
3. Farming methods have changed here gvery two years.

?
4. The oil company is believed to have earned over 100 billion dollars

?
5. Her new glasses made her look completely different.

?

THE END OF THE TEST



https://www.macmillandictionary.com/dictionary/british/farming
https://www.macmillandictionary.com/dictionary/british/method
https://www.macmillandictionary.com/dictionary/british/haven
https://www.macmillandictionary.com/dictionary/british/changed
https://www.macmillandictionary.com/dictionary/british/new
https://www.macmillandictionary.com/dictionary/british/glasses
https://www.macmillandictionary.com/dictionary/british/look_1
https://www.macmillandictionary.com/dictionary/british/completely

